
Made in  China

 Berkley Elite Room In a Box
Assembly Instruction

Important Information:
Read all instructions BEFORE assembling crib.
KEEP INSTRUCTIONS FOR FUTURE USE.

IMPORTED BY C&T International, Inc. / IMPORTE` PAR  de C&T International, Inc.

CANADA ADDRESS:
105 Stonehurst Ct Northvale, NJ 07647 U.S.A. 

3453, DU PRESIDENT KENNEDY LAC MEGANTIC, QUEBEC, CANADA G6B 2Y4

Tel, 201- 531-1919 Fax, 201- 531-1920 

Website: www.sorellefurniture.com / Site Internet : www.sorellefurniture.com



Page 2

CAUTION : ANY MATTRESS USED IN THIS CRIB MUST 
BE AT LEAST 27 1/4” (69CM) x 51 5/8” (131 CM) WITH
A THICKNESS NOT EXCEEDING 6” (15CM).

 WARNING
Crib Warnings



Page 3

SORELLE

Toddler Bed Warnings

INFANTS HAVE DIED IN TODDLER BEDS FROM ENTRAPMENT.
Openings in and between bed parts can entrap head and neck of a small child.
NEVER use bed with children younger than 15 months.
ALWAYS follow assembly instructions.
The maximum user weight is 50lbs (22.7kg)

STRANGULATION HAZARD
NEVER place bed near windows where cords from blinds or drapes may strangle a child.
NEVER suspend strings over a bed.
NEVER place items with a string, cord, or ribbon, such as hood strings or pacifier cords, 
around a child's neck.  These items may catch on bed parts.

ENTRAPMENT HAZARD
To avoid dangerous gaps, any mattress used in this bed shall be a full-size crib mattress 
at least 51 5/8 in  (1310mm) in length, 27 1/4 in (690mm) in width and 4 in (100mm) in 
thickness.  The mattress thickness must not exceed 6 in (150mm).

WARNING!

WARNING!

CAUTION!



Page 4

�������

C

AU

RIB MUST 

BE A

CM) WITH

A THI

���	�����
��	��
��
��������	
���

�����������

��
��������
����
����
�������	
���
�������
������������	
��
��������	����
	
�������������	
���	����
��
��
���������	����
����������
��������
����	���
��	
���������
��������

����

������������	
����
	���	���
�
�����

������	
�
����	�������������� ������	��������	
�����	�����	!
�
��������������"	��
�
	�������
������������	
�	��

�������
�����������
��	����������
����
�������	�����������������	
������

�

���	������
�	�
����
���	�
��	�
� �������
���	�
�����
���	
������

�
��"�
���	�	
��������	������������������	��	�#$��"�	����	������"������������������	����	
���� ��
	���
�
� �������
	����	
��������	�����������	
�����%	�����	������	���
����������	���
�
��
��
���
�	��		��������
�������������
����	���
�
���%	����
��������
������

����
	���	�������	����	��
�������
�����	
����
	������	
��
��
� ����	������

���������������	���	��
�������������	�������������������
���	����������������	��
��������������	
������

�
�#�������	
�����������	
��	
������������	
�	�����
�����	
�������������
	�����������	�����	
�
����������

�
���������
������
�����
������
�
��������
������������
������	�����	�������	����
�&��	�
���
	����
������������������	����	��������	��������������
�'
���������������������������	������������
�������	��
�������������

�	�������

���	�������	�
(�����
������������	
��
�
�����������������	
�
��
����������
)
� ������������������
����	���������������	���
� �������������������������������������������	����
� �����	�������
������������������������������	����
��*����
�����	���������
���!
���	���	���
������	
�����
����



Page 5

Sorelle

Hardware List

(B)  Foot Board (1 pc)
(B1)  Left Leg of Foot Board (1 pcs)
(B2)  Right Leg of Foot Board (1 pcs)
(B3)  Foot Board Top (1 pcs)

(A1)  Head Board Top (1 pc)
(A3)  Head Board Down Rail (1 pc)
(A4)  Head Board Middle Panels (2 pcs)
(A5) Left Leg of Head Board (1 pc)
(A6) Right Leg of Head Board (1 pc)
(A7) Head Board Left Post (1 pc)
(A8) Head Board Right Post (1 pc)
(A9) Head Board Middle Post (1 pc)

(C)  Left End (1 pc)
(D)  Right End (1 pc)
(E)  Mattress Support (1 pc)

Crib Assembly Parts

( f ) M6 x 17mm Allen bolt (4 pcs)

(k)  Allen Key (1 pc)

(g)  Barrel Nut (12 pcs)

(h)  Wood Dowel (2 pcs)

( i )  3 in 1 Bolt (2 pcs)

( j )  3 in 1 Nut (2 pcs)

(a) M6 x 80mm Allen bolt (6 pcs)

(c) M6 x 55mm Allen bolt (8 pcs)

(b) M6 x 65mm Allen bolt (2 pcs)

(d) M6 x 50mm Allen bolt (3 pcs)

(e) M6 x 40mm Allen bolt (6 pcs)

(A-5)

(A-6)

(B)

(B-1)

(B-2)

C

E

D

(B-3)

(A-3)

(A-1)

(A-7)

(A-4)

(A-4)

(
A-
9)

(A-8)



Page 6

Sorelle
Crib Assembly Steps

Step 1

Figure 2

Step 2

Assembly the Headboard as Figure.

(C) (B1)

(B2)

(D)

Attach Ends(C&D) to Left Post of Foot Board(B1) and Right Post of Foot Board
(B2) as Figure.

e

e

e

e

Figure 1

(A-5)

(A-6)

(A-1)

(A-7)

(A-4)

(A-4)

(
A-
9)

(A-8)

c

c

a

g

h

h

g

g

g
a

i

j

j

(A-3)

b

b



(D)

(C)

(A)

Page 7

Sorelle
Crib Assembly Steps

Step 3

Figure 3

ASSEMBLY THE ENDS AS FIGURE.

Step 4

C

C
g

g C

(E)

Figure 4

Mattress Support Assembly as Figure .

E

f

k

X 4



Page 8

Sorelle

C

Figure 5

Step 5
Crib Assembly Steps

NOTE:This crib has a high position setup for use during your baby's first months.
As soon as your baby starts to sit up,you must use the lowest mattress level.

Your crib is now ready to use.

FootBoard(B) Assembled as Figure.

(B)

(B-1)

(B-2)

(B-3)

ad

d

d

a

g

g

g

g



SORELLE

Page 9

B

B

G
G

B2

b

b

b

b

Converting to a Toddler Bed (Optional)
 
Follow all instructions supplied with the 148# Toddler Rail System. NOTE:148# Toddler Rail System
is not included. Please see your crib retailer, visit WWW.Sorellefurniture.com or contact C&T 
International / Sorelle for more information.



SORELLE

Page 10

a

d

d

d

a

g

g

g

g

(B)

(B-1)

(B-2)

(B-3)

(A-5)

(A-6)

(A-1)

(A-7)

(A-4)

(A-4)

(
A-
9)

(A-8)

c

c

a

g

h

h

g

g

g
a

i

j

j

(A-3)

b

b



SORELLE

A

Page 11

 
Follow all instructions supplied with the 221# Adult Rail System. NOTE: 221# Adult Rail System
is not included. Please see your crib retailer, visit www.sorellefurniture.com or contact C&T

 

International / Sorelle for more information.

Fullsize Bed (Optional)

(B)



SORELLE

Page 12

Laundry Assembly Steps

Hardware List

( m ) M6 x 29mm Allen bolt (2 pcs) (n) Joint connector nut (2 pcs) (o) 30mm Wood Screw (8 pcs) (p) Nylon Washer (2 pcs)

V

W

V

U

U

V

T1

T2
o

ox4

x4
mm

pp nn

(TT1 T2 3) (T4)
()

()


	空白页面
	空白页面



